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Cial forq ) Read thq following passage carefully and answer the questions given b

s -
Partjcj Y pro r . ts in
prodf,lpato °l‘estgryammes in India form one of the largest and most innovative expenm::e the
Civit an jons designed to impr
Of the pyay. 2N use °"® and also one of the largest intervent ins in India with the report

Ommung) | al orig

. alland. Social forestry had its form . lands

(4] Y n

el £ TN f g e socamended roing s o 1
Stry br, €ople in on forests set asl

Ou.g tabo order to reduce the pressures d other forest products. It Was

ut by m N i an
ndi Ounting rural demands for fuel, grazing . off the
forests and N “Mbarkeq UPon a social forestry project w;th the aim of taking :jhe Pfi-‘:r:::es —-
initj . INg use ; rojects and prog

Nitiateq in of all unuseq and fallow land. Social forestry p fcj)rest areas that are close to

Most st .
g:f::irs‘tseedtﬂement ?‘:’e"sed;;;?\g;:gerzzseiih:\iz::ltzey::fsotsihz‘;‘;el::rr:::tactiv.ities and thui r:.‘eefa;‘.:‘)" :\e{
lines and l‘é)a:iiie: ore to be Planted in and around agricultural fields. Plf:tllr;gr]:efclt:ze\lsillaa(g)egcommon
lands, 80Vernmenets' and river and canal banks is also carried out. They are p
What is th . Wasteland ang panchayat land.
(A) Resig - '.“eanmg of the word "fallow"? e ctadiums
o cli €ntial plots of (B) Wasteland (C) Uncultivated (D) Sp

W - ‘ ' >
hy are Bovernment forest areas close to human settlements degraded?

(A) Because ofglobal  (B) Because of the (C) Because of forest
warming animals

(D) Because of flood
human activities

. ion?
In which of the following places are trees being planted as part of afforestation:

(A) Along rail lines (B) Along roads (C) Onriver and canal (D) All of the options
banks

What is the tone of the author in the passage?
(A) Descriptive (B) Jevial (C) Choleric (D) Fanciful

When were the social forestry projects and programmes initiated in states?
(A) 1960s (B) 1950s (C) 1980s (D) 1990s

Directions Q.No.(66-70): Read the following passage carefully and answer the questions given below.

Feminism is the belief in the social, economic and political equality of the sexes. Although largely
originating in the West, feminism is manifested worldwide and is represented by various institutions
committed to activity on behalf of women’s rights and interests. Throughout most of Western history,
women were confined to the domestic sphere, while public life was reserved for men. In medieval
Europe, women were denied the right to own property, to study, or to participate in public life. At
the end of the 19th century in France, they were still compelled to cover their heads in public, and, in
parts of Germany, a husband still had the right to sell his wife. Even as late as the early 20th century,
women could neither vote nor hold elective office in Europe and in most of the United States. Women
were prevented from conducting business without a male representative, be it father, brother,
husband, legal agent, or even son. Married women could not exercise control over their own children
without the permission of their husbands. Moreover, women had little or.no. access to education and
were barred from most professions. In some parts of the world, such restrictions on women continye

today.
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Passage, which of the following statements d and were able tg 4

(8) Women were educate

ran \ .
C€ covered their heads in n their own

Public on the;
eir own volition business i
o W wit
© Feminism, originated j ; Women are completely free no 4 Ithout any
I Western countries © restrictions throughout the worl
67-\Nhoa
mong the follow; iness?
Ing can represent a woman in busine .
A) Father (8) B t: (C) Legal agent (D) All of the options
rother
68. Feminism is concerned about-
W) Sodial, economi (B) The liberty of the  (C) Women child (D) None of the options
and political €quality Western women marriage
of the sexes only

69. According to the passage, which of the following statements can be inferred?
(D) Women had

(A) Women were (B) Women were (C) Women were great , I
celebrated for theijr considered as an | independent compiete contra
sacrifices object entrepreneurs over their children

70. What is the main idea of the passage?
(A) History of feminism (B) The achievements (C) The important roles (D) Today's .positifan of
and how women of women in history played by women women in society
were treated ‘

Directions Q.No.(71-75): Read the following passage carefully and answer the questions given below.

There are five basic materials. Most things are made with these materials. They are metal, glass,

wood, cloth and plastic. There are some other materials also. Metal is very heavy. And it is very hard

and strong. It usually feels cool if you touch it. We use it for forks, cars and knives. We use it for these

things because it is very strong. Glass is very smooth. It feels cool to touch. It is not as heavy as metal.

Itis hard but not strong. It breaks very easily. We use it because it is clear. You can see through glass.

That's why we use it for windows. Wood is lighter than metal and glass. It is not as strong as metal,

but it is much stronger than glass. We use wood to make iots of things. Things made from wood are

usually light and hard and strong. Chairs, tables and pencils are made from wood. Cloth is very light.
It is much lighter than wood and it is very soft. We use cloth to make lots of things. For example, it is
used to make clothing. And it is used to make blankets. Plastic is also very light. But it is different
from cloth. Sometimes it is soft, and sometimes it is hard. Plastic can be used to make thin plastic
bags. These are light, soft and strong. But plastic can also be used to make helmets. These are light,
hard and strong. A helmet and a bag seem different, but they are both made from plastic.

71. According to the passage, how many basic materials are there?

(A) Two (B) Three (C) Four (D) Five
72. Which of the following materials is heaviest?
(A) Glass (B) Metal (C) Wood (D) Cloth
73. Which of the following is a material that is the chjef ingredient of the 6thers?
(A) Wood (B) Window . (C) Table (D) Door
10109-1123
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(A) There

e follomng state

dre on|
. Y th \
Materig)|g that Weree (B) Plastic is heavier (C) Glass is also a hard

ments can be inferred from the passage? .
(D) None of the options

Use than metal material

In o
life " everyday

Di (B) Jovial (C) Condescending (D) Jealous
Irecti
In th:c:;s Q.No.(76-80): Read the following passage carefully and answer the questions given- below(;
PeStilenceS.t' man's worst enemy was Nature. He lived under the continual tr.1reat of famine :Cne
M°Untain » @ wet summer could bring death to the whole Nation and every winter was a mc::abie-
division 1-5 stood like a barrier between people and sea was less a highway than an I(rjnp“z,l‘c,dem
38riculn-, oday Nature, though still an enemy, is an enemy almosf completely conquered. aern
: Fe assures us of an ample food supply. Modern transportation has made: the-.- resources O
entire planet accessible to all its inhabitants. Modern medicine and sanitation allow dense
P.OPUIations to cover the ground without risk of epidemic. True, we are still at the mercy of the more
violent Natural convulsions. Again‘st earthquakes, flood and hurricane, man has, as yet, devised no
adequate Protection. At most times, Nature is no longer formidable; she has been subdued.

76. Modern medicine has helped man- )
(A) To live shorter in (B) To live an unhealthy (C) To live in thickly (D) To balance housing
most parts of the life in hygienic populated areas needs
world ' conditions without fear of
epidemics
77. Man has not yet succeeded in controlling the furies of-
(A) Earthquakes (B) Floods (C) Hurricanes (D) All of the options

78. Which of the following statements best reflects the underlying theme of the passage?
(C) Man has been able (D) Man has been able

to mitigate the to control Nature
impact of Nature to a completely
great extent

(A) Man can do (B) Man's knowledge
wonders has no end

79. In ancient times, man had an apprehension of-

(B) Severe droughts (C) Floods (D) All of the options

(A) Diseases

80. According to the passage, the modern transport system is a blessing as it-

(A) Has not helped (B) Has not brought (C) Has made all the (D) Has not encouraged
decrease the comfort to both commodities people to travel for
towns and villages available to everyone pleasure

distance between
towns and villages
Directions Q.No.(81-85): Read the following passage carefully and answer the questions given below.

Typesetting, also called Desk Top Publishing (DTP), is a separate industry by itself. In book publishing,
copy-edited manuscripts are processed by typesetters (in-house or freelance) for typing and
formatting. When authors provide soft copies of their scripts, typesetters work on formatting alone.

Typesetters use page-making software packages for formatting texts. Some of the popular page-
making software packages are QuarkXPress, Corel Ventura, PageMaker, TeX/LATeX, and 3B2. The -
stration software tools are lllustrator, CorelDraw and AutoCAD. Typesetters provide laser

popular illu
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alled camera ready copy (CRC),
f the publishing process.
requirements for online informaﬁo"‘
de HTML, XML, SGML formats, SGm_

or negatives, positives ang

Postscript files

Scanning s an;tof:ee'eqromc files for the next stage o
r

electronic publishin feature of the typesetting process. With
8 and Internet publishing, typesetters provi

Conversions, SG
ML tagging, PDF and hypertext links.
(D) Working on only

81. Accordi
" w l:g to the Passage, typesetting is
or 'ing on .
only Oracle () Typing and (C) Working on _ ‘
formatting on CorelDraw only hard copies of scripts
computers from authors
age-making software package?

82. ACCOldinﬂ ota p
to t
5 he passage, WhiCh among the fo“OVVing iS n t

(A) PageMak
viarer (B) Corel Ventura (C) Oracle

83. The uS .
e of the word Process' in the passage means a-
(C) Technique for (D) Serialization

(A) Page numbering (B) Level
accomplishing

84. Which of the following is FALSE according to the passage?
(A) Typesetting is also called Desktop Publishing (B) Typesetters provide laser outputs of high
resolution for the next stage of processing
(C) Ty.pesetters cannot provide electronic files (D) Scanning is a part of typesetting

The word 'freelance’ used in the passage means-
(C) Self-employed (D) In-house people

85.
(B) Employers
' typesetters

(A) Volunteers

Directions Q.No.(86-90): Read the following passage carefully and answer the questions given below.
When something is in motion, it changes its position. Objects

We can watch things around us move.
can move from one place to another. They can move in many directions. If you roll a ball, it might
move in a straight line. It might also move in a curve. A swing can move back and forth. A light switch
can move up and down. Fans have blades that move in a circle. If you want to know if something is
moving, you can compare it to other things around it that are not moving. If the things behind the
object are changing, the object is probably moving. If they are not changing, the object is probably
not moving. You can measuré the distance an object moves. Just measure the distance between
where it was when it started to move and where it was when it stopped. Distance can be measured
in inches, feet, yards or miles. These measurements are in the customary system. It can also be
res, centimetres, meters and kilometres. These measurements are in the metric

measured in millimet
g is in motion, what happens?

system.
86. According to the passage, when somethin
(A) It changes its (B) It changes its colour (C) It changesitssize (D) It changes its weight
position
87. According to the passagé, in how many directions can an object move?
Two directio ; ; . .
(B) ns (C) Three directions (D) Many directions

(A) One direction
llowing is FALSE, based on the information provided in the passage?

(C) Alight switch moves (D) Fan's blades move in

88. Which of the fo
up and down a circle

(A) Aswing cannot
move back and forth

(B) A ball movesina
straight line

14
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89. How to know if an object moves?

(A) Checking its weight (B) Checking its colour (C) Comparing it to (D) One cannot knoW |rf
other things around an object moves ©

it that are not not
moving
90. Which of the following can be inferred from the passage?
(A) Distance can be (B) Measurements are (C) Things around us do (D) A ball does not move
measured only in the not move in a curve

customary system

» 91. Choose the correct antonym of the given word from the options given below.
| DISSUADE

v/ (A) Impede (B) Discourage (C) Admonish (D) Encourage

92. In the following question, the given sentence has four parts marked P, Q, R and S. Choose the part
of sentence with the error and mark as your answer. If there is no error, mark 'No error (S)' as your

answer. :
Either the principal (P)/ or the students is (Q)/ at fault. (R)/ No error (S) _
(A) P ~ (B) Q (O R (D) s

93. Choose the option which best expresses the meaning of the idiom/phrase given below.

“A hard nut to crack"
(A) To be turned away (B) ‘The exact likeness  (C) To take the credit for (D) Athing not easily
or kind something someone understood
else did

94. In the following question, the given senience has four parts marked P, Q, R and S. Choose the part of
sentence with the error and mark as your answer. If there is no error, mark 'No error (S)' as your

answer.
I recently visited (P)/ the Big Temple in Thanjavur (Q)/ which is hallowed for its height. (R)/

No error (S)

(A) P - (B) Q | (€ R (D) s
95. Choose from the four options, the word that best substitutes the given phrase.

"A person who does not believe in God"

(A) Atheist (B) Theist , (C) Pious (D) Reverend
96. Choose from the four options, the word that best substitutes the given phrase.

"An animal that feeds only on plants and shrubs"
(A) Insectivore (B) Omnivore (C) Herbivore (D) Carnivore

97. Choose the correct synonym of the given word from the options given below.

JOYOUS

(A) Cheerful (B) Sad (C) Serious (D) Depressed
98. Fill in the blank with the most appropriate word which will suit the context of the sentence,

The young, thin boy surprised his wrestling opponent with his strength.
(B) Wiry (C) Frolicsome (D) Pretentious
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99. Choose the opti
tio : 3
Ption which best expresses the meaning of the idiom/phrase given below.

|lca“ it a dayn

(A) To stop work or
other activity

(8) Name the day (C) Call in day time (D) Callon someone

100. Choose the
e c
orrect antonym of the given word from the options given below.

PRUDENT

A . \ « s
(A) Economical (B) Careless (C) Shrewd (D) Judicious

S e

101. Filly; (e
" th.e blank with the most appropriate word which will suit the context of the sentence.
I 2am going to Mumbai
{A) Today (B) Yesterday (C) Last night (D) Last week

g
B
§
|

102. Choose from the four options, the word that best substitutes the given phrase.
A building or statue built to remind people of a famous person”
(A) Immortal (B) Artefact (C) Reminder (D) Monument

103. Choose the correct synonym of the given word from the options given below.

DULL

(A) Boring (B) Active - () Fast (D) Bright
104. Choose the correct synonym of the given word from the options given below.

SOLITARY ‘

(A) Overcrowded (B) Secluded (C) Busy (D) Boisterous

105. In the foliowing question, the given sentence has four parts marked P, Q, RandS. Choose the part
of sentence with the error and mark as your answer. If there is no error, mark 'No error (S)* as your

answer.
Until 2021, her's (P)/ was the only district (Q)/ to top university rankings. (R)/ No error (S)

(A) P (B) Q (C) R (D) S

the word that best substitutes the given phrase.

106. Chocse from the four options,
| means by pressing on and moving the bones in

"Treatment of physical problems by natura
someone's back and joints"

(A) Oncology (B) Osteomyelitis (C) Chiropractic (D) Osteoporosis
107. Choose the co

UNINITIATED
(A) Inexperienced (B) Masterful (C) Virtuoso

rrect synonym of the given word from the options given below.

(D) Accomplished

the given sentence has four parts marked P, Q, R and S. Choose the part

108. In the following question,
your answer. If there is no error, mark 'No error (S)' as you'

of sentence with the error and mark as

answer.
| have sat (P) / in this very place (Q) / many a times during my childhood. (R) / No error (S)
(A) P (B) Q (€) R (D) S
10 ’
. c_h°°se the correct antonym of the given word from the options given below.
EXPRESSIVE
(A) Articulari .
) Articulative (B) Reticent (C) Exponent (D) Professorial
A
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est express,Es the
nis Worth a pou

Meaning of the idiom/phrase given below.

nd Qf cu "
- ing avery high

n
Worth ¢ (B) Hay;
ight he effort ¢ VINg a very 1oy (C) Taking adequate (D) Hav ching
’ Problem i e a precautions will help chance at some
SOmething prevent problems in
the future

111, Choose the o

Ption whi . :
oM Which best E€Xpresses the meaning of the idiom/phrase given below.

Orse mouth to listen to jt (B) Not sensibly thinking about something

Q) T | e
’ . o
person involved or an official source

112, il : .
v:," in the blank with the most appropriate word which will suit the context of the sentem‘: e
henever | visjt foreign countries, | make it a point to go on a gastronomic tour tp taste’the

—
. i s

A Delegations (B) Delicacies (C) Delegates (B) Dilemyma
113, ; .

Choose the correct synonym of the given word from the options given below.

THRIVING

(A) Droopy (B) Sagging " (C) Flourishing (D) Declining
114. Choose the correct antonym of the given word from the options given below.

HILARIOUS

(A) Mirthful (B) Cheerful (C) Ebullient (D) Melancholy
115. Choose the correct antonym of the given word from the options given below.

JEALOUSY

(A) Envy (B) Malice (C) Benevolence - (D) I-will

116. Fill in the blank with the most appropriate word which will suit the context of the sentence.
Part working from home and part working at the office is a happy between the needs of

family and work.

(A) Conjecture (B) Coordinates .. (C) Diffidence (D) Compromise

117. In the following question, the given sentence has four parts marked P, Q, R and S. Choose the part
of sentence with the error and mark as your answer. If there is no error, mark 'No error (S)' as your

answer.
They stole several (P)/ gold rings (Q)/ and an expansive watch. (R)/ No error (S)
(A) P (B) (R (D) s

18. Choose the option which best expresses the meaning of the idiom/phrase given below.

"Behind one's back"

(A) To build a house (B) To do something (C) To narrowly avoid (D) To always succeed in

behind another secretly without defeat everything
allowing others to
know
YO\ 17 10109-1123
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119. Choose from the foy

Too hrase
) o ropt w s the given P
PPOse or resjgy» Ptions, the word that best substitute

) Indent D) Defy

120. Fi (B) Indemnify (C) Legitimize (
. t
i ] itn the blank with the most appropriate word which will suit the context of the sentence
onte
A) Lio':Poral'v arts can trace thelr to European Renalssance: —
(B) Lineage (C) Length
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